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(1) e 3 for = (2) e o 30T
(3) e A, 9 AT (4) R 3, F AT
Which of the following personalities provided education, legal advice to labours by
the establishment of organization ‘Kamgar Hitvardhak Sabha’ in 1909 ?
a. Bhivaji Nare
b. Sitaram Bole
Harihar Sonule
Barr. Harishchandra Talcherkar

) Onlyaandb (2) Only bandc
Only a,band d (4) Onlya,candd

U

—
- 2 9

(3

~

FrEe TN

3 m%’mmmmaﬁ
9.
. Sy SRESTd g g
)

(1) & 3 AN F (2) weEd

(3) H,§ AMH (4) e & IO H
Homerule means

A. To acquire the right to govern our country

B. Achieving self governance
C. For the yoke of the British to break
D. Resisting self-Government

1) OnlyAandC (2) OnlyB
(3)) A,Band C (4) OnlyBandC
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3. ‘g Wt vt T de@iAte T qew S, @ g @ Bl 7
(1) S At (2) sw TRl
(@) = (4) e Froeet

Who among the following made the statement ‘The queen of Jhansi was the only male
among all the rebels’ ?

(1) John Lawrence (2) Major Sergeant

@ Hugh Rose (4) Colin Campbell

Which of the following personalities were related with establishment of ‘British India
Committee’ for National Congress at London on 27 July 1889 ?

a. Philip Spratt, Brian Bradley

b. Sir Allan Hume, Digby

c. Dadabhai Naoroji, Womesh Chandra Banerjee
d. Wedderburn, W. S. Kane

(1) Onlyaandb
(2) Onlybandc
(8) Onlya,bandc
(4) Onlyb, candd
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5. Wiefiadeh! a7 faumren wiarh fag 1.

WaTd ufgell et e il ges 3% gE 9.

T afeett amme fireft fen 29 gw e,

(1) e a 3T ¢ (2) ed a 3T b
(3) e b 3l ¢ (4) a,bafic

o o P

Choose the option of correct statements from the following.
a. The first cotton mill in India was started in Mumbai.
The first linen mill in India was started in Rishra.

o T

India’s first cotton mill was started by Kawasji Nanabhai.

(1) Onlyaandc Only aand b
(83) Onlybandc m) a,bandc

6. FreeTE A R oA Tereoiidier it i) et e TR 38 9 e |
¥ el Bl ?
H. Tmell BrEe

THERS U

et

iy 5

(1) e 3T 0 (2) e o AT H

(3) e &, & MU (4) wFd 3

o 3 o

Who led the 31 July 1857 Revolt of 27! Regiment of Indian Soldier’s at Kolhapur ?

a. Ramaji Shirsat
b. Nanasaheb Peshwa
c. Rango Bapuiji
d. Bhima Naik
(1) Onlyaandb (2) Onlybandc
(3) Onlyb,candd (4) Onlya
e SHHTETS W / SPACE FOR ROUGH WORK P.T.0.
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7. FfiIiegEel AT A e G, 3 WIeleril Hivh rmeet 3R 7

(1) e &% (2) wETeAT e
(3) TSI THHIER W (4) svatEg fmmEmm
Who among the following said that Sati is, ‘Murder with the consent of the scriptures’ ?
(1) Lord Bentinck (2) Mahatma Phule '
(8) Raja Rammohan Roy (4) Ishwarchandra Vidyasagar
8. Y e o
A, e gH [ PATY
9. HoIes 9 1 AT
. A qYT , . 2¢E
. I TS V. 2¢w3
A T & T
(1) m Il IV

I
2) IV Il I n
@ 1 v I I
4) | Il im v

Match the following pairs :

a. Prarthana Samaj I. 1870

b. Satyashodhak Samaj II. 1875

C. Sarvjanik Sabha . 1867

d. Arya Samaj IV. 1873
a b c d

(1) 1 I I v

2 Iv Il I 1]

(3) Ml A\ I Il

4) | | m v

Who was the first secretary o
Banarjee on 26! July 1876 7

(1) Prof. Sundar Raman (2) W.S. Blunt
(3) Anand Mohan Bose (4) Shishir Kumar Ghosh

f the Indian Association established by Surendranath
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10. Gl TGS T TN SITE TEATeA] SETE FHIE ST 7 hed H
TEHT N TSI GIAdT Sl 81 7 e fre
1) TS ' (2) T
Es) aﬁna?rgﬁga?nnémé (4) HfiFa FATCERE TS HEd
The State was lapsed by company government for not making proper arrangement
of his descendants after his death by which of the following kings of Nagpur ?
(1) Raja Raghuji Il (2) Raja Raghuji lll '
(3) Shreemant Maloji Raje Bhosle (4) Shreemant Appasaheb Raje Bhosle

1. TR 2R&0 N 030 Tefied THw wwmmafeha fovmn argsed
e

(1) ¥ s ¢ anm (3) u (4) o 3 ¢

Total administrative Ons in Maharashtra, during 1960 and 2020 are

d

and
respectively.
(1) 4and8 (2) 4and6 (3) 5and7 (4) 5and8
12. I A= e
1 T i
H. B HOEE e i. I T
9. 9l mg i. g e
. e gar iii. TS YSHY e
3. WIS IUS U iv. FEdien qd s
A d <k g
(1) i i iv i
(2) i [ i iv
(3) i iv i iii
4) i i iv iii
Match the following :
Type of soil Region
a. Black cotton soil i. Konkan region
b. Lateritic soil ii. Eastern vidharba
€. Reddish brown soil iii. Maharashtra’s plateau region
d. Coarse shallow soil iv. Eastern side of Sahyadri
a b c d
(1) i i iv i
i i i iv
i i i fi—
w iii
: — p.T.O.
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13. TRIER (3Rwo) AT SHEHTAR MRATIT FISATE Aft 720t w1 oot wrrert) i

LR R

3. oo du Ve ST quT 20 Al UET Hf

&, 30 Gt YR HHI

%. 00 gl &I STEd

T. 200 [t Yayr O yo [ UM S

(1) Sad A (2) 13t g
(B)—FhFdF— (4) g
Dry farming in India as defined by Swaminathan (1970) is, where mean annual rainfall is
a. More than 100 cm but less than 120 cm

b. Less than 30 cm

c. More than 200 cm

d. Less than 100 cm but more than 40 cm
(1) onlya (2) aandb
(3) onlyc (4) onlyd

14, WA SAUHIER eeriehl Shiordt aedl T a&dt e slieEet 9 ¢

AH.
9.

HETRYTICTehT /FRATITehT 3180,
Yooo YT I TAIhEEAT 3R,

T W% ek forR ot SraEmr Som.
5. iR Tar g = . o voo e W

@i,aeﬂﬁm (O, RS
—taanfirs— (4) =Ow =&

According to Indian census, which of the following settlements are known as urban
settlements ?

a.
b.
C.
d.

(1)
(3)

There is a Municipal Corporation/Municipality.

Population is more than 5000.

50% of the people are engaged in non-agricultural occupations.
The population density is more than 400 per square km.

a,bandc (2) b,candd
a,bandd (4) Al of the above
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15_. TR BT I eliet T Aean A Sl e,

™=
| H&3 - AT
|l. PIeER - FIT3
Hl. 3 - 3TEHER

IV. Eﬁlvﬁl?T - YUISH

Match the pairs of Ghats and Roads in Maharashtra.

A
B.
C.
D

(1)
()
@)
(4)

Ghat
Phonda
Malshej
Hanumante
Thal

A B Cc D

Il 1] \Y I
v I Ml I

0l I v Il
vV I I I

Road
I. Mumbai — Nashik
ll. Kolhapur - Kudal
lIl. Thane — Ahmadnagar
IV. Kolhapur — Panaiji

16. Y #eTea™ SR

(1)
(3)

The mountain range of Shambhu Mahadev lies between

(3)

At - Mgredt
fimr - wm

Tapi — Godavari

hima — Krishna

ST / SPACE FOR ROUGH WORK

(2) g - fy _—
4) AT - ——
i L~ —
rivers.
(2) Godavari —Bhima ) s
e, T o
(4) Koyna — Krishna
P.T.O.
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AT e - wIg, G, a1 6.

Tl e JrEes v e aret @i smesdr.
H 3 & U 37

A, & 3N F s 3RA

3 3T § S 3T

FFd § T 372

Observe the following statements and select the correct option.

Iron, gold and copper are found in igneous rocks.

Minerals such as limestone and gypsum are found in sedimentary rocks.
Minerals such as mica, garnet are not found in metamorphic rocks.

a and c are correct

a, b and c are correct

a and b are correct

only b is correct

18.

QIefieideh! SHIvrd faem /3 s 3R /d 7

3.
9.
B
S.

(1)

TErreera fimn T whE @R 3T,

Yo et 13T WA I are.

TR T E P S TR,

e 721 € el IRHLIT I AR,

Bd H M T (2) BH T (3) wamfirg (4) &, 3w

Which of the following statement/s is/are correct ?

Bhima river basin is a separate river basin in Maharashtra.

a.
b. Painganga river rises in Ajanta range.

c. River Manjara is the tributary of Krishna.

d. Sindphana river is a northern tributary of Godawari. ‘

(1) onlyaandb (2) onlyb (8) candd (4) a,bandc
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19. HIUTCT G T GURA=AT Semen verel fewer™ T ?

(1) _fiyg —waere— (2) HaeR - T
(3) fe @ - =g (4) eyt — Rt
The region between which two rivers is called the Punjab Himalayas ?
(1) Indus — Sutlaj (2) Sutlaj— Ganga
‘ Chenab Yamuna (4) Kali—Tista

00, UREH M1 IEed MKAMY ifd I, HE § Y= AT AEIT= AT

TRV,
(1) e an
(3) ehresETE | T8 ar

Very hot and dry dusty winds, which blow very strongly in the Western and
North-Western parts of India is called as

(1) Norvester (2) Loo winds
(3) Kalbaisakhi (4) Tea winds

21. #ed met T fFrwesren it agsTET qig HeveREl Hehed mewa
et

introduced the concept of multidimensional poverty index to replace human
poverty index.

(1) Human Development Report 1997
(2) Planning Commission Report 2012

@uman Development Report 2010

(4) Suresh Tendulkar Committee Report 2009

HeeHl KIS SR / SPACE FOR ROUGH WORK \ P.T.O.
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22. wrelie faum fermme e
. T U Searemen freaes T Seqre e e 3T,
o VST TS ITATEAT ST SR 37, T fedes Uy Sedre T SEr

TR e,
TR B0t /et fererr /3 3 3e/q ?
(1) w0 o1 TR 3R (2) HF & UK 37
(3) 31 3P & s A (4) = 3ufr 9 ¥ MR

Consi following statements -
_ - Net National Product is always less than Gross National Product.

b.  Gross National Product includes depreciation while Net National Product does
not include depreciation.

Which of the statement/s given above is/are correct ?

(1) Only ais correct (2) Only bis correct

(3)) aand b are correct (4) aandb are incorrect

Which of the following statement/s is/are correc
a. Millets have been addressed with the nam

b. Rs. 23,000 crore hag been provided f
facilities.

t about India’s Budget 2023 — 247
e ‘Shree Annga’,

c. ‘National Live-stock Missjop’ has been alloc
(1) Onlya
(3) Onlybandc

ST / SPACE FOR ROUGH Wopy
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() Onlyaandp
(4) Al of the above
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5. gha s i et Ieared
q. G S ii. TR IcqTed
F. TSt s iii. I I
<. Tyash = iv. B IcaTeA
A 9 D )
(1) iv iii ii i
(2) i ii iv iii
(8) i v i i
(4) i i )Y iii
Match the following :
| Revolution Production
a. Green Revolution I. Qil-seed Production
b. Golden Revolution i\ Fishery Production
| C. Blue Revolution {i. Food Production
d.

Yellow Revolution
| a b c d

DR
@ i e
@ i v i i
i f——iy— i

m

iv. Fruit Production

25. Wt wfeume s _ W S vl gt et o,
(1) 3=ae 133 (2) IT=oT 223
(3) 3ITg=de 93¢ (4) 3rg=T R0

The Constitution of India defines the Union Budget under the Article
(1)_Article 112

3) Article 116

(2) Article 113

(4) Article 120
—_— P.T.O.
R 50— / SPACE FOR ROUGH WORK
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26.- TIeAIeTdhT slvrd faem ge amg ?
. W W IeqeATIEd TrREFH IR HHEee Ieqe GATRE TH.
. %mmtﬁmémwﬁmwﬁmm:
(1) wxa A (2) wH (3) 31 oM & Gral  (4) ATHRT TehET AT

Which of the following statement is true ? .
a. Gross domestic product does not include the income earned by the nationals
outside the country. _
b. Gross domestic product does include the income earned by the nationals outside

the country.
@omy a (2) Onlyb (3) Bothaandb (4) None of these

27. Wﬁﬁﬁmﬁﬁﬁmmm%ﬂaﬁﬁﬁm@m?
3. %Wﬁaﬁwmmﬁﬁ,mmﬁfrﬁ%aaﬁmm.
. éaammémﬁfﬁaw%maﬁ.

Which of the following statements is true about the Consumer Price Index for Industrial
Workers (CPI-IW) ? ’

a. It applies to all workers in India, regardless of their sector.
It is solely used to determine the minimum wage.

b
c. ltis based on fixed basket of goods and services whi@ changes.
d

It helps to ensure that industrial workers receive fair wages and maintain a decent
standard of living.

(1) Onlya (2) Onlyc (3) Yonlyd (4) Bothaandb
28. @Fﬁaﬁzﬁﬁvﬁnﬁﬁmwﬁa—ﬁwﬁwmﬁ ?

(1) ST whitel Feron (2) SR A i

(3) st amor dar s (4) G IR SRR

Which of the following is not an method of qualitative credit control of Central Bank ?

(1) Control on consumer credit (2) Control through issuing directives

(3) Regulation of margin requirements Open market operations

ool HIHTEIS! AR / SPACE FOR ROUGH WORK
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3. VAT gEaea faehm Hemgesre TuTaT 1958 Arefl SHvam e
g, ‘en fast Fivd T @eE € Sewre gk a1,
(1) R @ (2) & S 3R

(3) 3T 3 & SR AT (4) e Hod TR

Which of the following statements are correct ?
a. Indian Handicrafts Development Corporation was established in the year 1958.
b. ‘PM Vishwakarma Kaushal Samman’ Scheme is Central Government sponsored

scheme.
(1) ais correct (2) Dbis correct
@ a and b are correct (4) None of the above

30, AR AU A WEieih] Fad SeeR A e g S Ied ?
(1) <9 €, HT g gL 0 TIATaT
(2) W, q@amm@a
(3) T T, Yo T I TAATH
(4) W T, AT g G A0 3R T
Which of the following are three important factors leading to change in the demographic
study of India ? o
(1) Birth rate, maternal mortality rate and migration
(2) Birth rate, death rate and infant mortality rate

~——{(3y—Birth rate, death rate and migration
(4) Birth rate, maternal mortality rate and infant mortality rate

31. mmﬁﬁ%ﬁ(lw)w%owmﬁmﬁwmﬁwmﬁawﬁﬁwm
" e ayeferewen /Hata SfiHd = AT SHH L

(1) =, sl SEE, W ST SO

) aﬁﬁwmzﬁqmaﬁaﬁvﬁ

(3) I, aﬁ%nﬁ%ﬁqaﬁm

(4) aﬁﬁaﬂzﬁqaﬁﬁwaﬁm

State the correct order of the top five largest economies/richest countries in the world
as per the International Monetary Fund (IMF) data published in 2024.

(1) - China, USA;Germary, india-and Japan
(2). USA, India, China, Japan and Germany

Gg;p;yany—USA——Fﬁé@"emmm
ﬁUSA China, Germany, Japan and India

T AT W / SPACE FOR ROUGH WORK PT.O.
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32. gl faa Fom ufidfensgama__ oft wafm o,
(1) SRR gemom (2) arSeHet =hT fereeres g
(3) =ATUR fawreh germom (4) forfra el gumon
Dr. Vijay Kelkar Committee Report is related to
(1) Administrative reforms (2) Indirect tax reforms
(3) Trade reforms (4) ) Financial sector reforms

33. Tt feATaIESt WA o T st Rt e SR s T T

3) REH ST Fa YR H sriTes s |
4) Wwwwwmmmww

Which of the following is not an authorised platform for residents in India to execute
permitted forex transactions electronically ?

(1) A recognised stock exchange

(2) A platform authorised by the Reserve Bank of India (RBI)
Any online platform offering forex trading services

(4) A bank authorised by the RBI to deal in foreign exchange

34. mewwwg@zﬁqwm 2

(
(2) wTeder figred % (RBI) gt sferepa wmartis
(
(

H. S qIeY B,

. T ST "o 29,

P P AT FEbRIEE RO e e i,

S. W A FH IcTe Ty,

(1) ®Fma (2) wamfrg (3) e = @) = s
Which is the main objective of National Agricultural Cooperative Marketing Federation
of India (NAFED) ?

a. Credit distribution.

b. To promote rural industrialization.

€~ To promote cooperative marketing of agriculturay produce.

d. To sell agricultural produce in_cheaper cost. , :

(1) Onlyb (2) aandd (3) Onlyc (4) bahdec
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P4 e sreleeE qEES TR T @ e

5 TR ST gEdTS! TSTehidt qg g,

<. W SAeEeReaT RS e qe g,

= T arfEeTTT e TR qEgeh q¢ S

() o (2) ®amfrs (3 wHT (4) e =
Which of the following statement is correct regarding Indian Budget ?

a. Indian budgetary documents shows total receipts and expenditure.

b. Indian budgetary documents shows fiscal deficit.
c. Indian budgetary documents shows primary deficit.

d. Indian budgetary documents shows effective revenue deficit.—
(1) aandb (2) candd (8) Onlyb (4) Ij)f the above
—

17 H19

3. Ww/w@maﬁﬁmm ?

q. Hawe! |

% {ge, @R ({8, %)

(1) #, 9, (2) ®ad A, &
(3) Wekd A (4) I H,

Which of the following is/are works by Jon Fosse ?
a. Boat house

b. Melancholy |
c. Raudt, Svart (Red, Black)
(1) a,b,c (2) Onlya,b
(3) Onlya (4) Onlya,c
37. TS YRR 3D TR TR RO He 316 A it S Hied R hel 3R 7
(1) ﬁq"\q'ﬁ (2) ?ﬁﬁm
(3) SffEE servAd (4) hrsA S wa.

With which company did Survey of India sign an agreement to prepare 3D maps of
cities in India ?

(1) Nexon (2). Infosys
(3) Genesys International (4) Freedom GPS
N FHTATATE ST / SPACE FOR ROUGH WORK P.T.O.
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38. YEIAUeh! hivre Sireemed weteh A onifn defie Brhe sieimoneh A v Sseiet

3Ea ?
A UF Ik wfeam - wEg
9. Bew Wit - eon

F. W, T, fdaw wfeam - I
3. . foeanh Rftm - SreR

(1) 3, 3, %, 3 (2) ®FI A, 9, &F

(3) ww a1, (4) wFa 9, F, T
Which of the following pairs of name of city and name of cricket stadium are matched
properly ?

a. Green Park Stadium — Kanpur

b. Holkar Stadium — Indore

C. M. A. Chidambaram Stadium - Chennaj
d M. Chinnaswamy Stadium - Bengaluru

(1) a,b,c,d (2) Onlya, b, c
(8) Onlya,b (4) Onlyb,c,d
39. gt wivi g (eI oy & vreerelt fftfet Sheft amy

(1) wfeprteg anfr sigesray (2) urkh e

(3) wd. % 7 (4) ThE

Who among the following coineg the term ‘quantum dots’ ?
(1) Ekimov and Onuschenko (2) Mark Reed
(8) L.E.Brus (4) Efros

40. St Ffrr i (anthem) v am -
(1) s = rftpe
(2) =wE i g o am Al
(4) sMezsm
hich of the following , _
}q/) God bless AfricagI > anthem of African Union (AU) 2

(2) Blessed be the Lang of Africa
(38) Letus all unite ang cele

: brate together
(4) Ode to joy
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M. AT Eefeth wn fm @ o 7

3, mﬁ%ﬁﬂ*ﬁﬁﬁﬁwa@sﬁmﬁzﬁﬂwmm.

<. Wammﬁuﬁm

. AfFT T aRf e,

M &,9,% 3 (2 A, 7 (3) wH H,§,T (4 TR DS

Which of the following statements are correct about the Maldives 74
a. The population of Maldives belongs alpfost entirel e Maldivian ethnic
group.
b. Islam is official religion of the State.
c. The official language is Arabic.

d. The head of State and Government is the President.
(1) a,b,c,d (2 Onlya,b (3) Onlyab,d -@nly b, c, d

42.

ﬁ)‘?NASA and ESA (4) NASA and JAXA

N
wrefierieh] v ST Tee FeH i qUATs T A §gE SWOT
TR ST ITE HEH GE hell 38 7

(1) = i o e 5 e, (2) = e S

(3) T 3T 3. WA (4) FTET ST SRR

Which of the following space research agencies have jointly launched ‘International

Satellite Mission’ SWOT to survey Earth water ?
(1) NASA and CNES (2) NASA and ISRO

"
43.

mmﬁ%mﬁaﬁmzom it A el IR,

(4)
Food Waste Index (FWI) Report 2024 is released by
(1) United Nations Environment Programme

Food and Agriculture Organisation

(3) United Nations Agricultural Programme
(4) Intergovernmental Panel on Climate Change

Few sl ST/ SPACE FOR ROUGH WORK _ m—
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a4, 3 <o ¥ed @75 WARI g sErIe A TR @ B0 AR 7

(1) w2 (2) R feefi gig
(8) HHISK Trsfd T (4) HHISR . TH. GeHMIH
Who is the author of the book “The Indian Navy @75 reminiscing the voyage” ?
(1) Shobha De (2)  Commodore Dilip Donde
(8) Commodore Raniit Rai mommodore K. S. Subramaniam
T ~~—
45. 3ETe Wi @H I ol v B
(1) e (2) from
(3) UWE-HEEE™ (4) @@
What was the gharana of Ustad Rashid Khan ?
(1) Mewati (2) Kirana

(3) Rampur-Sahaswan @ Lucknow

46. Wﬁmwmﬁwm 2.0’ 2 AT gE hefl 3R 7

(1) =g (2) ArTeie (3) Tl (4) oTrE™
Which of the following States has started ‘Orunodoi 2.0’ Scheme to iate poverty ?
(1) Manipur (2) Nagaland (3) Mizoram @ssam
47. T o o TS et TR e S w2
(1) =< Harm (2) . T Ay
(3) rsfia (4) H & o

What is the motto of Surya Kiran Aerobatic Team (SKAT) ?

(1) Sadaiva Sarvottama (2) Nabh Sprusham Deeptum

__(8) Shatrujeet (4) Karm hi dharm
48. 1. W. TAT B Wrefieieht wyve &rmet el B 7
(1) el siteTe (2) SR e s

B. N. Goswamy was associated to which of the follow

' ing field ?
(1) Art Hlsto.ry (2) Ancient Indian History
(3) World History (4) Literature
Heedl HIAHETE! AT / SPACE FOR ROUGH WORK
D
e R T — ]
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49. g gt Qe fqummd srim foum v ?
. LT RN Herrer, 3R Hehd wie ‘@ fiu’ g,
9. HRAFHER ¥ NIaT gl ST Faid Sl Shaui Fe¥ e,
. AT A Yo TET JET haledl & 3R,
SR U R RS HECTRE BICTRC
(1) A,9,%,3 ; (2) ®Fd H, ¥, S
(3) ® A, 3 (4) ®H T, S
Which of the following statements are incorrect about Lakshadweep ?

a. The name Lakshadweep in Malayalam and Sanskrit means ‘a hundred thousand
islands’.

b. Itis India’s second smallest Union Territory by area.
c. Kavaratti is the principal town of this Union Territory.
d. Agattiis capital of Lakshadweep.

@ a,b,c,d (2) Onlya,b,d

(3) Onlya,d (4) Onlyb, d

50. g TR IV TACETER T ¥ wuel § A Sefad 9 7

(1) T8 HHed (2) ot worre™

(3) T forRr e (4) IR FAEE

Which Ministry of Union Government conducts the Campaign of “Sangathan se
Samriddhi” ?

(1) Ministry of Home Affairs (2) Ministry of Finance

(3) Ministry of Rural Development @ Ministry of Trade

51. “Trfi-aTeR g TR Held 3R 7

(1) = e @ﬁ?w
(3) STNT HHE 4) wlauh T

What is ‘Munshi Ayyangar formula’ related to ?

(1) Taxissues (2) Communal issues
(3) Language issues (4) None of the above
e HIETATS! ST / SPACE FOR ROUGH WORK 7 P.T.O.
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52. HICE HUHT e srpesaran Frate s ae e 3
() T=B2368  (2) omedz 256 (3) agede 324 (4) HT=DE 150

The Constitution of India has

provided for the Election Commission as per the following
Arlicle

(1) Article 368 (2) Article 256 (8) Article 324 (4) Article 150

N—
53. ﬂwﬁammg@qﬁahqa@waﬁwm?-
(1) ToEdRmf (2) = wa. e
(3) wH WEw (4) SEeTelan

Who is India’s first woman Chief Electi
(1) 'Swaruparani
(8) Kamla Nehry

on Commissioner ?
(2) V.S. Ramadevi

(4) Jaylalita 7
54. A Ieve %xsrmﬁuaﬁﬁm%raéaﬁmﬁﬁwmﬁqﬁééaﬂ%a ?
(1) Tesh (2) TsIUTE
(3) =9 =™ =iy (4) foarm= gamd

According to Article 154 of the Constitution, all the executive
been entrusted to whom by the Constitution ?

(1) Chief Minister @ Governor
(8) High Court Judge

powers of the State have

(4) Speaker of the Legislative Assembly
55. focwl wmnefuret frgwdy LU

(1) =9 =merm g =mnsy

(2) TS w8 3R

(8) WA FEwH

(4) TS TSIUTS

District Judges are appointed by

(1) The Chief Justice of High Court

(2) The State Public Service Commission
(3)  The Chief Minister of State

he Governor of State

Heed] HMTHISI W / SPACE FOR ROUGH WoRK
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g6. T FIAT STHE Yooy ey araver 3 oA IR e I FE FOA

A IR ?
(1) 3'3?"%& WY ) 3;3.—5@3 r34
(3) I R (4) IFTeBE 2¢

Which Article of the Constitution provides that every High Court will be a Court of
Record ?

(1) Article 215 (2)Article 216
(3) Article 217 /\é\/micle 218
57. WWWW@WWWHWWWW

EICRICIERE IR G |

(1) ofech st (2) g I

(3) forertt gt (4) =heft ST

Which Schedule of the Indian Constitution contains the allocation of seats for each
State and Union Territories in the Council of States ?

(1) First Schedule (2) Second Schedule

(8) Third Schedule (4) Fourth Schedule
58, U HreATGEE SRl T e ST g M e g 7

(1) &2 off Tegesdt

(2) g o HegEE

(3) ‘o3 ot TG

(4) oy ot TR

Under which Constitutional Amendment, the Gram Sabha has got constitutional
status ?
(1) 615t Amendment
(2) 715t Amendment
73rd Amendment
@74th Amendment

————

Feea] sHTETd W / SPACE FOR ROUGH WORK P.T.O.
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S9. R HHeETea Wieiei B e /R a3 7
S TSHEIT TR HrEehres 71 ST Rl geeiyam a1,
(1) = a1 (2) % d
(3) 31 3nfr 5 Q= (4) FOTIR Hior T
Which of the following statement/s is/are correct regarding the Parliament of India ?
A. The ‘Provisional Parliament’, after independence was unicameral.

B. Theterm of the members of Rajya Sabha is same as that of the members of the
Senate in U.S A

(1) OnlyA

(2) OnlyB
Both A and B

(4) None of the above

60. Wﬁﬁaﬁwmmﬁmwﬁamﬁwwmw”m
T SN eco sarean fesiean s 7

(1) 3T=e 3 (2) smede 2wy (B) =T WY (4) ITTEDT IR

In which Article of the Constitution, the words Zilla Panchayat, Gram Sabha,

| r\mediate Village etc. related to Panchayat State are defined ?
(1) )Article 243 (2) Article 244 (3) Article 245 (4) Article 242

61. faum e e,

(1) %% a
(3) a 3mfor b g

Consider the following statements.

a. At present, the Eighth Schedule of the Indian Con
22 languages.

b.  Among them Konkani and Nepali languages were addeq by the g9ond Amendment
Act of 2003.

stitution specifies

Which of the statements given above is/are correct ?
nly a (2) Onlyb
(3) Bothaandb (4) None of the aboye

ﬁ@éﬁm / SPACE FOR ROUGH WORK
i

e T e ——
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S R W 61 v s o s T

(1) 39 @) s 40

@) <42 (4) e 41

The subject of ‘Organization of Gram Panchayat’ is included in Article —————
of the Constitution of India.

(1) Article 39 (2) _Article 40

(3) Article 42 (4) Article 41

(1) =98 R (2) ITTHT L&L

(3) IT=DT 3¢o (4) T=DG W

Which Article in the Indian Constitution deals with the topic of State Legislature ?
(1) Article 22 2) icle 168

(3) Article 380 %) Article 25

64. Wﬁmmmﬁwmﬁﬁmm?
) » , , ‘
(2) TSHU
(3) Tsw frated Mg
(4) = SArRAET ST

Who among the following has the power to elect the Advocate General of the State ?

(1) Chief Minister
(2)_&overnor
(3) State Election Commissioner

(4) State Public Service Commission

Fee STl S / SPACE FOR ROUGH WORK STO.
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65. Ercfieiieht e T T fadfivees ame 7

(1) 31y wew, foen, wtew, o, Hed WeT, His

(2) TS, oo, IR wew, S, I, T

(3) Fifesh, wamTe, deimom, Ie W, fargw, Frgw

(4) 3Ty yew, fogw, wtes, TR, AeOn, IR SR

Which of the following States has a Bicameral Legislature ?

(1)._Andhra Pradesh, Bihar-Karnataka—G ujarat-Madhya-Pradesh, Kerala
(2)\“@ELa§mwMagaTU4tar-PradeshrAssamredisha;Gujarat

(WMH%MWHWUWW%WEWTWU@—-

@Andhra Pradesh, Bihar, Karnataka, Maharashtra, Telangana, Uttar Pradesh

66. T wwTE @t @Tefer v agar
. T O F 315,
. HIE ALY Tl SR,
S. IR TEH Wi 37EY Herar.
aﬂﬁﬁﬁﬂﬁvﬁ%m/ﬁﬂﬁaﬁmaﬁa?
(= anfor e
(4) 3, % anfor g

e following are the characteristics of mammals

a. Hair present on the body.
b. Three chambered heart.
c. Mammary glands are present in females.

d. Some mammals lay eggs.

Which of the statement given above is/are correct ?

(1) aandb only (2) b,candd
(3) aandconly (4) a,candd
— OUGH WORK
ST / SPACE FORR
e AT
D
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q Ui Sieftd e wuieta smera s,

T EeA™ T FY 31,

3 o woft s,

o 8 a

(1) e A (2) ea 31 U
(3) 3, % MU E (4) 31, 7 i %

The class Pisces includes fishes because
a. They are completely adapted to aquatic life.
b. They have three chambered heart.
c. They are cold blooded animals.

d. The body is covered with scales.

(1) onlya

@ a,candd (4) a,bandc

(2) onlyaandb

H19

68. WW@WWWW
(1) TofeaT

(2) Teerertrad

(3) weAfuA™

(4) Froad f gmred T

Name the poison found in nematoblast of Hydra.

(1)

(2) Hypnotoxin
(8) Malathion
(4)

Glutathione

No poison is found

\——/’
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69. wrcfiet fyemy < o wdee 3 T :
i. e oo dame, e St 39 I '
iii. e geretned waq TRIGSH .
i i i
) w =5 ==
@ =w Ww
(3) W= =R «AW
(4) WR I =W

State whether the following statements are true or false.

. In“Solar PV” technology, solar radiation energy is directly converted into electricg
energy.

In “Solar thermal” technology, solar radiation energy is converted to heat
energy.

iii. Biomass material contains nitrogen only.

i ii iiii
(1), False False False
yirue  True False
3) True True True
(4) True False True

cylinder containing a liquid by moving its piston
back and forth ?
(1) Longitudinal
(2) Transverse

(37 Both transverse and longitudinal
@Neither transverse nor longitudina|

1 / SPACE
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7M. P e qo s dtreriied e fich s 7
(1) 1%%700% (2) 0.1 X q 1 farefiet
(3) 1 T 400 Fnfrex (4) 400 Ffnfier A 700 A
In electromagnetic spectrum what is the wavelength range of visible light 7
(1) 1 mm to 700 nm (2) 0.1 mto1mm
(8) 1nmto 400 nm 400 nm to 700 nm
: _
72. AT IR 13 T e,
¥, queRll JaTes i, aTAfem
%. TS Helres i, TR
3. s dares iv. iR
A = & -
(1) i i iii iv
(2) ii iv [ iii
(3) i i iv ii
@) iv il i i
Match the algae group with suitable example.
Algae group Example
a. Chlorophyceae i. Sargassum
b. Phaeophyceae ii. Botrydium
c. Rhodophyceae iii. Spirogyra
d. Xanthophyceae iv. Polysiphonia
a b c d
(1) i i iii iV
@ i v i i
3) i i iv i
fasciv i i
T FrETS WA / SPACE FOR ROUGH WORK P.T.O.
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73.

QTAETIA R Bz ReraoiR w3Th 318 TgUrTd 7
(1) 3
(3)

Which of the followin

30

iR
HRE]

(2)
(4)

H19

fatfer
AECIHEHIA

g is called as fruit ripening hormone ?

75.

Auxin (2) Gibberellin
\@Ethylene (4) Cytokinin
74, IR 7 JrehTERrET Stew o,
| TRIARm ATHTh
A, TR g weed i, ST e y
9. TogTE WieEld St qie i, ERTE i e
. MR T fe i, SEe Aien
S. TS UM faue iv. e i
A g Ed 2
(1) i i iv il
(2) i i ii iv
(3) iii iv i i
@) iv ii [ i
Match the plant disease with causative agent.
Plant disease Causal agent
a. Loose smut of wheat i. Taphrina maculans
b. Black stem rust of wheat ii. Cercosporidium personatum
c. Tikka disease of groundnut iii. Ustilago segetum
d. Leaf spot of turmeric iv. Puccinia graminis
a b c d
(1) i i iv iii
2) i i i iy
(3) i iv . i
(4) iv i | I
T I T A YUHE 2T A 7
(1) A (2) ==,
(3) U TEBfafed (4) da s
Which of the following vaccine is given intradermally ?
(1) TT (2) BCG
(3) Japanese Encephalitis \&) Yellow fever

oI HIHTETS AR / SPACE FOR ROUGH WORK
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76, SIS e s i Freeh v S S e oy i e e
. B G

hITT et T i e Tl 9 ?

RO 5&”'5’; @) foh fr

S (4) el areeis foerEd

w:‘. biomedical waste is segregated and safely disposed by using color coded bag.
ic

Olor coded bag is used for human anatomical waste ?
) bag (2) Yellow bag
(3) Blue bag (4) White translucent bag

77. m%wwﬂa%ﬁmmmwﬁ%@m?
(1) 9 (2) =yAE (3) wETRISNEHR (4) uTfhEd

The deficiency of protein in diet is responsibte far which disease ?
(1) Arthritis (2) Diabetes mwashiorkor (4) Parkinson’s

N
78. SIS B Wil wvegen Ry o
(1) Cu/Sn (2) Cu/zn (3) Cu/Pb (4) Cu/Ni

Bronze is an alloy o
(1) Cu/Sn %)\}Culn (3) Cu/Pb - (4) Cu/Ni

=
79. TEREIH ITTmEY faiiende” =1 3wm
(1) 3o (2) =

TR .
(3) TrEEH (4) forng

\ Ites” are used as _ in chemical industry.
1) @atalyst (2) Lubricant (3) Mordant

) (4) Alloy
~%00% aﬁmmyﬁﬁ?mm,qﬁﬁ%@m@mmcm)ﬁqmwmm
EIgSH e yehe 7
(MR : H=1,C=12,0=16)
(1) 27w (2) Tm (3) ¥ 7w (4) 30 W

How many grams of hydrogen can be obtained from two moles of formaldehyde
(HCHO) considering 100% reaction and recovery ?

(Atomic weights : H = 2,0 =16)
(1) 1 gram gfam (8) 4 gram (4) 30gram

BT.O
T HITETE ST / SPACE FOR ROUGH WORK
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81. ST e W Ieawt T 40,000 e A T FAN HUTE,
Forett ot e 2 el IqBIhI Teeleh e HIaT.
(BRI SR SivTTeHeR b G
d
p{\)/;\@ ferom
f) 40° )
> 90°
/ T 110° (/oo
70° i
EEI
(1) < 35,000 (2) % 30,000
{(3)‘) ¥ 25,000 (4) 20,000

the monthly income of family is ¥ 40,00

If
fam

(Circled numbers indica

0, then what is the total expenditure of

ily on house rent, groceries and travel by looking at the circle below ?

te fractional angles)

Saving
Grocery
40°
90°
House Rent 110° 50°
70° Electricity
Travel
2) ¥30,000
000 ( ’
(1; : 2:,00 . (4) % 20,000
(3 ’
R ROUGH WORK
et ST / SPACEF
caa2ll

D
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82. ‘o7 X W N W R R0z TR Pl T A dw awg Wa A N g0 o AT
forrelt, T 1 SRR FE A ?
(1) ‘31" =1 A1 %1 1 A A
(2) ‘31 = R T AHI A
(3) ‘3’ =T R0 Th THI AT
(4) F =1 R0 TR R
‘A’ sells an article to ‘B’ at a profit of 10%. ‘B’ sells the article back to ‘A’ at a loss of
10%. So what happened in this transaction ?
(1) ‘A’ neither losses nor gains

@ ‘A’ makes a profit of 11%

(8) ‘A’ makes a profit of 20% /( o

(4) ‘B’ losses 20% ﬁ

83. anﬁwsoﬁwmugfm,wigmﬁaasﬁmmwﬁagﬁwaﬁﬁam
et 3 35 feamma ol b T T PR o PR e ot Rt 7

(1) 32 (2) 38

i
)

(3) 42 (4) 40
If Bhushan completes a work in 80 days, but after 10 days of work Bhushan leaves and

Niraj does the remaining work in 35 days. In how many days will Niraj alone complete

the same work ?

(1) 32 (2) 38
(3) 42 (4) 40
mmm / SPACE FOR ROUGH WORK PTO.
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84, Wwwaﬁaﬁmaﬁmaﬁﬁﬁ-mw’

10 IuiH from a9 fodt s 7

(1) 31=§ (2) 33

(3) 30 (4) 3579

rs. Today the average
Five years ago the average age of Rekha and Neha was 34 yea

2
il Niraj be after 10 years
age of Rekha, Neha and Niraj is 33 years. How old will Niraj b
(1) 31 years (2) 33years
(3) 30years (4) 35 years

% '“AWWWWWW.BWSO%WWH%W
FEM. G TR YA IR SRt 40% YTt I 9 40 el <&
ST TCemIter iR TaTIT= S T A 9 Seeied Saea 40% Saeh! 38, L fehell
SETH T B 9 3aw@ ¢

(1) 140 @20 SB—75

2)
(8) 275 @ 440

A train starts from station ‘A’ with some passengers. At station ‘B’, 50% of the passengers
get down and 25 new get in. At station ‘C’, 40% of the passengers present in the train get
down and 40 new get in. Now, the number of passengers present in train is 40% of those
boarded at station ‘A’. How many passengers got down at station ‘B’ ?

(1) 140 (2) 220 ’7@
(3) 275 (4) 440 L\S‘O
V)
(3.49)° - (0.51* _ o~ oA \
B6. i 49 -0.51 =7 — o —hsT -
) 4/ @ 3 @) 2 @ 1
SONES 3.49 - 0.51
(1) 4 (2) 3 (3) 2 @) 1

o= SHTUTETE! ST / SPACE FOR ROUGH WORK
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g7. T THW T, 360 1 hTel THTEE WIS hel. SN ATel Teish Thtaar &, 3 = HL
firarelt aredl, T Al 25% e TFtEg T FE yehen e, T @ geard fhdl

TG T et ?
(1) 24 (2) 30 l @/9
(3) 32 ' (4)' 20
Sameer purchased some apples for a’ st of Rs. 360. If had he got discount of
Rs. 3 on each apple, then he could have purch;a:e'f more apples. How many
apples did Sameer originally purchase ? *}47 \ g/@ )
(1) 24 2 o
(3) 32 -, (4) '

88. 1509 500 I1 HEAmeRe forct AT 11 Wil el ? QJ/’ZZ’—Q
(1) 31 (2) 32
(3) 34 , (4) 36

~

How many numbers between 150 and 500 are divisible by 11 ? r} S O

_ @ =

- (3) 34 (4) 36

89. 18ﬁaﬁa12ﬁ%ﬁaﬁvﬁwm@30ﬁﬁwmmﬁﬁﬁm
30

3200 /
O
320 L 21 6®
If a square tile has sittle-30-¢
length 18 m and breadth 12 m ?

n how many tiles will be quired to cover a plot of

(1) 720 (2) 3200
(3) 2400 (4) 320 ~—
TN BTG AR / SPACE FOR ROUGH WORK P.T.O.
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90. mso%ﬁww?oorﬁa@%ﬁwmﬁmmmmm
e @et fedt 2
(1) 700+t (2) 900
(3) 600 (4) 8007

If a train of length 700 m crosses a platform in 72 seconds with a speed of 80 km/hr.
What is the length of platform ?

(1) 700m (2) $00m

(8) 600m 800 m

9. e foum amm A s fra,

, &

faem ¢ 7 A I s 3;\2;’

R e REd B 3.
frerd o1 : T Bt T MR,

;9 Bl WEdl 3Ra.
(1) T 31 90K 3R
(2) Ty 9 TR MR
(3) frspd 21 9 9 <l == 3R
(4) Trepd 31 9 9 A HR IRA

Read the following statements and choose the correct conclusion/s.
Statements 1 : All mogara are shewanti.

2 : All shewanti are flowers.

Conclusians A : All flowers are mogargk
b B : All flowers are Shw

(1) Conclusion Ais correct

(2) Conclusion B is correct

(3) Conclusion A and B both are correct

(4) YConclusion A and B both are wrong

—_—
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92. I 3Mehelta forcht Brepior a7

(1) 38 (2) 60 (3) 46 (4) 42

How many triangles are in the adjoining figure ?

(1) 38 / 0 ) @ 46 @ 42

93. ﬁgquwgwnaﬁ Wmmwmmﬁﬁqmaﬂﬁé afm
=it et U= STre= S 3R, wfere wel s e afeaht a0 5w 2

1) sfew (2) gerh
‘ (giz il (4) =g

Rohan is the son of Ramu. Ramu'’s father picked up to Rohan from the school and

they went to Sachin uncle’s house. Sachin’s wife is sister of Rohan’s mother. What
is the relation of Sachin’s wife with Rohan’s father ?

(1) Sister (2) Daughter

(3) Sister-in-law (4) _Mother-in-law
&
eI SHHTATS! AT / SPACE FOR ROy P.T.O.
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N
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94. wrefiet wfech spressiiqden amen st yeAr I A .

. Aﬁ,D,EWmeﬁmwﬁﬂﬁmmﬁfﬂmmma'a]i'i'w

wae.

I AR et g o G = 3R e R e ferTC e T F A S SRS,

. B fommra C = s x 3 wig i D e a o e e,

V. F 3 oW D 9 E e smea o1 Presfee wg D Smt e Tl St AT
V. T C 3 D = wed wiofdt ardt s fygra C nfr A = g hiofiel .
AT WWW@W?
(2 B (3) C 4 D

d the following information carefully and answer the question.

Six students A, B, C, D, E and F participated in self evaluation test of Maths and
Science.

Rea
l.

The total marks of A in Maths was just above C and marks in Science just above F.
B was just above C in Science but scored less than D in Maths.
F got more marks than D and E in Science but did not perform as well in Maths as D.

V. Nooneis in between C and D in Maths and C and A in Science.
Who got the highest marks in Science ?

95. wmwﬁama%ooﬁamﬁmmmwaqﬁamﬁmﬁﬁaaﬁ?ﬁa?
yﬂ/\ (1) 15300 (2) 16400 (3) 17500 (4) 14400

Six labours prepare 9600 bri;@n four days. How many bricks will be
~ 18 labours in two daTs'Z\/ PLY2 \ g

(1) 15300 (2) 16400 (8) 17500

prepared by

[ (4) 144007

4}596_ 54 et/ ST ST 31 9 ST T el e e, 3R ST
(1) 130 #ix (2) 1321 (8) 1351 (4) 140 e

A train running at a speed of 54 km/h crosses a telegraph pole in 9 seconds. Find the

length of the train.
(1) 130 metre @32 met‘re (3) 135 metre (4) 140 metre

=<1 TS 9 / SPAC\E~EDR/ROUGH WORK
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97. WAt T Asfdicr sy A0 i o 7

3,6,11,18, _
1

) | 20 (2) 24 (3) 36 (4) 27
Which digit will come next in the following number series ?

3,6,11,18, .

(1) 20 (2) 24 (9 36 //@%

98 3T \_\-// o
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T R g ST fdt 7

(1) 4 fofi 2) 3fwh @) 1fEh
Amar went 4 km to the school in West directionfrom his house and then went 2 km in

North direction towards bank. After taking money from the Bank Amar went 4 km to
Bharat's house in East direction. So what is the distance between he and his house ?

(1) 4 km (2) 3km (3) 2km (4) 1km
B o . 4 vz AS
99. S 4+ TEUR —, — TR x, + TGV + ST x TN +, W 15 ;3 £ 1FS 5 5=
(1) 42 2) 44 (3) 48 (4) R :m—-g‘r
If + means —, — means x, + means + and x means +, then 15 — 10x5+5="7
(1) :12 7 (2) 44 7 (3) 48 A 7 (4) yo)ne of these

100. SR wETE Gikfaw W, BREAKTHROUGH @ EAOUHRBRGHKT a8 fafgard, ™ @m=
Fishfies wia DISTRIBUTION © ## feferet ?

(1) TISTBUONDIRI (2) SITIBUONRIDI
(3) STTIBUDIONRI (4) RISTTIBUDION

In a certain code language, BREAKTHROUGH is written as EAOUHRBRGHKT. How
is DISTRIBUTION written in that code language ?

(1) TISTBUONDIRI (2) SITIBUONRIDI
IBUDIONRI (4) RISTTIBUDION
%‘g
e ST ST / SPACE FOR ROUGH WORK L&A__,L____.-» P.T.O.
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